EARAZROREIERT — 2 N—XBISY —F 20145128208 (£) 18[E1A&E1H

LM C2—19# C2 H5%3m L ‘ (%] & ‘ [eErE] - | 4 (H) 14000 FE
[AE£] 1% :110,000"  23%&:2500M”  33%&:10,000 M  43%&:6,000 3 ~ 53 :3,000H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
s o — . & K TFER :33. —5-5— X — INFEX (1£8)
lalgl v /47542 it 3 5xT 1(3_3)0 5-5-5-3 | 39.1 4 <4+335) mﬂmg "
RARYIFRYT—/ B FH TR FE OUF
=t i 3 | BEE—ER 1:33.0 2-2-2-2 | 39.5| — 1 513 | /IIEZ4F (1£8)
20717 7]'{7'7‘/ 54.0 (7E) o |BAET
R:TSATLZXEM L B: by THTHFEL FRESS
o o HHIEE :33. -3-3- X — Z/hEEAN (ER)
s o TV RNL o4 HH o MR ? ff; RmET
R:TF72708— B:HALL R NTLT— HET7—L4L
_ . .= RHE#EC : -1-1- — hEFE (E5)
4 NENC YA Y o4 e 1.(313).9 1-1-1-1 | 40.5 5 (5_215) it
R:ERYIFRYT—/ B:IURIZATRLF HESS
< ge s o4 | AIEF 1:34.6 4-4-4-5 |40.8| — 7 450 | JIIEEEF (1EH)
sEl 4| T-T—Y %.0 @ (o) | EHE
RFT7A47 B4 TNA HE KR
Al :34. —6-6- X - AR (E8)
6l5l5|7HH7UZ it 3 oh 1(33/12)8 6-6-6-6 | 40.5 3 (4+252) ﬂt?kﬁiér B
L:xavIRTLd B:TI9 99149 F ke
N N REHE_ . —7-7- — FIEF (£H)
RRES TP it 5 =5 1.&5).6 8-7-7-7 | 40.9 6 <4+265) 5@#;&2& ®
L:ZATATv— B:70vy b E+TFT FHBSE
N = e KIEHFER : -8-8- — XBAE (£8)
8 3| UN=A2TF R i 7 25 1.(376).9 7-8-8-8 | 42.0 8 :_351) i
R:Z2—-4>95>K BiAvIIILI1lb WA BR
@ 1—F—@&BIEf
13—7+— 6,7,2,4,8,5,3,1
Aol=5r= 6,7,2,4,8,5,1,3
30—7+— 6,7,2,4,8,5,1,3
43—+ — 6,7,8,2,4,5,1,3
[ RN
B OB 8 1,700 714K 7-8 230M B E 7-8 780M &R 2-7-8 410M
7 B 8 150 2-8 80| | & & 8-7 3,040M | | 3EE 8-7-2 7,970M
7 1004 2-7 100M
2 1009

ABICOVWTRDTEEERROODE. TR LIV,



